

1, check in examples

(1.1) Which are subgroups?

 $(\mathbb{Z}, +)$ is a subgroup of $(\mathbb{R}, +)$ since $\mathbb{R} \subset \mathbb{C}$,

$$(GL(n, \mathbb{R}), \times) = (GL(n, \mathbb{C}), \times)$$

$$(SL(n, \mathbb{R}), \times) = (SL(n, \mathbb{C}), \times)$$

$$(O(n), \times) = (U(n), \times)$$

$$(SO(n), \times) = (SU(n), \times)$$

$$(SL(n, \mathbb{R}), \times) = (GL(n, \mathbb{R}), \times), (SL(n, \mathbb{R}), \times) \text{ is a subgroup of } (GL(n, \mathbb{C}), \times)$$

$$(O(n), \times) = (GL(n, \mathbb{R}), \times), (U(n), \times) = (GL(n, \mathbb{C}), \times)$$

$$(SO(n), \times) = (GL(n, \mathbb{R}), \times), (SU(n), \times) = (GL(n, \mathbb{C}), \times)$$

$$(SO(n), \times) = (O(n), \times), (SU(n), \times) = (U(n), \times)$$

$$(SO(n), \times) = (SL(n, \mathbb{R}), \times), (SU(n), \times) = (SL(n, \mathbb{C}), \times)$$

(1.2) Does C_n contain subgroups?If n is a prime number, it doesn't.If $n = pq$ ($p, q \in \mathbb{Z}^+$, $p, q \neq 1$) thena set $\{e, a^p, a^{2p}, a^{3p}, \dots, a^{p(q-1)}\}$ and a rule $(a^i, a^j) = a^{(i+j) \bmod n}$ is a subgroup of C_n .

2, Left coset, Right coset.

(2.1) proof of $G_0[A] = AG_0$ (2.1.1) At first, I prove $G_0[A] \subset AG_0$ for $\forall b, b \in G_0[A] \Leftrightarrow a^{-1}b \in G_0$ multiply both sides of $a^{-1}b \in G_0$ by a from left.

$$\rightarrow a a^{-1} b \in a G_0$$

$$b = e b \in a G_0$$

so, for $\forall b \in G_0[A], b \in a G_0 \rightarrow G_0[A] \subset a G_0$ (2.1.2) Second, I prove $G_0[A] \supset a G_0$ for $\forall c \in a G_0, c = ad \mid d \in G_0$,multiply both sides of $c = ad$ by a^{-1} from left

$$\rightarrow a^{-1} c = a^{-1} a d = e d = d$$

$$m c^2 \quad 9.0 \times 10^{16}$$

No.

since $d \in G_0$ and $a^{-1}c = d$, $a \in c$,
so for $\forall c \in aG_0$, $c \in aG_0 \rightarrow G_0[a] \supseteq aG_0$

(2.1.3) From (2.1.1) and (2.1.2),
since $G_0[a] \subseteq aG_0$ and $G_0[a] \supseteq aG_0$,
 $G_0[a] = aG_0$ \square

(2.2) proof of $[a]_{G_0} = G_0 a$

(2.2.1) I prove $[a]_{G_0} \subseteq G_0 a$

for $\forall b$, $b \in [a]_{G_0} \Leftrightarrow b a^{-1} \in G_0$

multiply both sides of $b a^{-1} \in G_0$ by a from right.

$$\rightarrow b a^{-1} a = b e = b \in G_0 a$$

so, for $\forall b \in [a]_{G_0}$, $b \in G_0 a$, $\rightarrow [a]_{G_0} \subseteq G_0 a$

(2.2.2) I prove $[a]_{G_0} \supseteq G_0 a$

for $\forall c \in G_0 a$, $c = da$ | $d \in G_0$

multiply both sides of $c = da$ by a^{-1} from right.

$$\rightarrow c a^{-1} = d a a^{-1} = d e = d \in G_0 \rightarrow c a^{-1} \in G_0$$

so $a \in c$ and $c \in [a]_{G_0}$

for $\forall c \in G_0 a$, $c \in [a]_{G_0} \rightarrow [a]_{G_0} \supseteq G_0 a$

(2.2.3) From (2.2.1) and (2.2.2)

since $[a]_{G_0} \subseteq G_0 a$ and $[a]_{G_0} \supseteq G_0 a$,

$$\underline{[a]_{G_0} = G_0 a} \quad \square$$

3, homomorphism, (PAGE 4)

Prop. Let ϕ be a group homomorphism from G to G'

(2) $\phi(e_G) = e_{G'}$ and $\phi(a^{-1}G) = (\phi(a))^{-1}G' \leftarrow$ proof of these.

i.e., of G i.e., of G'

↓ ↓

(3.1) proof of $\phi(e_G) = e_{G'}$

calculation
in G

calculation
in G'

From the definition of homomorphism, $\phi(a \cdot b) = \phi(a) \phi(b)$

When $a = e$, (identity element of G)

$$\phi(e \cdot b) = \phi(e) \phi(b)$$

$$\phi(b) = \phi(e) \phi(b)$$

When $b = e$ (=)

$$\phi(a \cdot e) = \phi(a) \phi(e)$$

$$\phi(a) = \phi(a) \phi(e)$$

So, since $\phi(a) = \phi(a) \phi(e) = \phi(e) \phi(a)$,

$\phi(e)$ is identity element in G'

(3.2) proof of $\phi(a^{-1}) = (\phi(a))^{-1}$

From $\phi(a \cdot b) = \phi(a) \phi(b)$.

When $b = a^{-1}$

$$\phi(a \cdot a^{-1}) = \phi(a) \phi(a^{-1})$$

$$\phi(e) = \phi(a) \phi(a^{-1})$$

multiply both side by $(\phi(a))^{-1}$ from left,

$$\rightarrow (\phi(a))^{-1} \phi(e) = (\phi(a))^{-1} \phi(a) \phi(a^{-1})$$

$$\rightarrow (\phi(a))^{-1} = \phi(e) \phi(a^{-1})$$

$$\rightarrow \phi(a^{-1}) = (\phi(a))^{-1} \quad \square$$